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Choose the Correct answer

1. The information of MIS comes from the
internal source

external source

both internal and external source
none of the above
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2. The elements of control will consist of

A. authority, direction, management
B. authority, direction, information
C. authority, application, management
D. authority, application, information
3. Audit gives details about to Account Payable System
A. account balance

B. transaction
C. expenditure
D. all of the above

4. One byte is made of
A. four bits
B. eight bits
C. twelve bits
D. sixteen bits

5. GDSS is the short form of

group decision support system
group discussion support system
group decision service system
group discussion support source
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6. The types of data transmission modes are
half duplex., duplex., singlex

half duplex., duplex., simplex

half duplex., duplex., half singlex
singlex, duplex, half triplex
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7. The starting point of MIS planning is general planning.
A. objective.

B. managers.
C. business.
D. firms.
8. Critical information for top management is provided by information system.
A. expert.
B. executive.
C. decision.
D. managerial.
9. In database handling reports used by software for data.
A. condition.
B. specific.
C. periodic.
D. demand.

10. What are the qualities of a good s/w ?
A. reusability
B. portability
C. inter operability
D. all of the above

11. is an awareness and understanding of a set of information and ways that
information can be made useful to support a specific task or reach a decision
A. knowledge
B. data
C. feedback
D. aprocess

12. In company side the outsourcing people also called
A. system integrators.
B. system analyst.
C. system evaluator.
D. system tester.

13. are individuals who help users determine what outputs they need from the
system and construct the plans needed to develop the necessary programs that produce
these outputs.

A. data entry operators

B. programmers

C. database administrators
D. systems analysts
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15.

16.

17.

18.

19.

20.

Which of the following SDLCs listed below takes an iterative approach to the systems
development process?

A. end user

B. rad

C. prototyping

D. traditional waterfall

A deterministic system operate in a predictable
A. model.

B. style.

C. process.

D. manner.

Prototype is a

A. working model of existing system
B. mini model of existing system

C. mini model of processed system
D. none of the above

Enterprise systems support:

A. manufacturing processes.

B. financial and accounting processes.
C. human resource processes.

D. all of the above.

Which phase is not available in software life cycle?
A. coding

B. testing

C. maintenance

D. abstraction

Waterfall model is not suitable for?

A. small projects

B. complex projects

C. accommodating change

D. none of above

RAD stands for:

A. rotate application development
B. register application development
C. related application development
D. rapid application development
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24,

25.

26.

27.

28.

CASE Tool is

A. computer aided software engineering

B. component aided software engineering
C. constructive aided software engineering
D. computer analysis software engineering

Assembling a product, identifying customers and hiring employees are:

A. transactions

B. phases

C. business processes
D. business functions

makes use of groupware technology on Internet platform for faster response

Processing.

A. e-communication
B. e-business

C. e-commerce

D. e-collaboration

Decision varies as to the structure within each level of management.

A. degree.

B. data.

C. situation.

D. order.

BPR stands for

A. business process reengineering
B. business process reconstruction
C. business program reengineering
D. business problen report

Knowledge based system supports,
A. knowledge of creation.

B. knowledge of support.

C. knowledge of dissemination.

D. all of the above.

A typical ERP system includes this module:
A. financial accounting.

B. inventory.

C. bill of materials.

D. All of the above.

Which of these is not a mySAP business suite?
A. Product lifecycle management

B. Supply chain management

C. Customer relationship management

D. All of the above are in the suite
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32.

33.

34.

35.

36.

Legacy systems:

A.

B.
C.
D

often require expensive maintenance.
may be difficult to integrate with new systems.
use a collection of independent files or databases.

. All of the above.

Which of the following is a function that can help optimize a supply network?

A.

B
C.
D

Supply chain collaboration
Collaborative design
Collaborative fulfilment

. All of the above

An enterprise is a group of people with

A.

B
C.
D

common goal.
separate goal for each department.
multiple goals.

. two or more goals.

ERP systems provide a number of benefits which include

A.

B
C.
D

Reduced Inventory
Reduced Manpower
Reduced cycle time

. All of the above

Enterprise resource planning (ERP)

A.

B.
C.
D.

has existed for over a decade

does not integrate well with functional areas other than operations
is inexpensive to implement

automates and integrates the majority of business processe

Which of the following describes an ERP system?

A
B.
C.

D.

ERP systems provide a foundation for collaboration between departments

ERP systems enable people in different business areas to communicate

ERP systems have been widely adopted in large organizations to store critical
knowledge used to make the decisions that drive the organization's performance
All of the above

Material requirements plan specify

A.

B
C.
D

the quantities of the product families that need to be produced
the quantity and timing of planned order releases
the capacity needed to provide the projected output rate

. the costs associated with alternative plans

Enterprise Resource Planning (ERP) is

A.

B.
C.
D

severely limited by current MRP computer systems
not related to MRP
an advanced MRP II system that ties-in customers and suppliers

. not currently practical



37. __ofthe tests is a final system test performed by end users using real data over an
extended period of time?
A. final test
B. complete test
C. systems acceptance test
D. parallel test

38. Which of the following is(are) the deliverables of the Systems Implementation phase?
A. training materials
B. functional system
C. physical design specification
D. operational system

39. A form used to record data about a transaction is a(n)
A. batch document
B. source document
C. on-line document
D. data entry document

40. If you need to collect employee status information (e.g., full-time vs. part-time) on a
computer screen your best choice for a GUI control would be:
A. drop-down list
B. masked edit control
C. radio buttons
D. spin box

41. Optical character recognition:
A. isless prevalent than optical mark recognition
B. isused on forms for subjective-based questions on exams
C. requires the user to carefully handwrite input data on a business form
D. both (a) and (c)

42. The most common medium for computer outputs is:

A. screen

B. paper

C. E-mail

D. 4.microfilim

43. Which of the following reports categorizes information for managers who are not
interested to wade through the details?
A. external
B. detailed
C. exception
D. none of the above
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45.

46.

47.

48.

49.

50.

Which kind of chart is useful for comparing series or categories of data, each in its own bar?

A.

B
C.
D

Which of the following is(are) the primary inputs into the task of writing and testing new

line chart
pie chart
scatter char

. bar chart

programs?

A. programming plan

B. database structure

C. testdata

D. both (a) and (c)

A list of the names of all customers who purchased only one product within a six-month

period would be an example of a(n):

A.

B.
C.
D

detailed report
summary report
exception report

. external report

A turnaround output is an example of

oo we

internal output
external output
summary output
exception output

Which of the following is NOT a general principle for output design?

A

B.
C.
D

The distribution of (or access to) computer outputs must be sufficient to assist all
relevant users.

The computer outputs should be designed with automated tools.

The computer outputs must be acceptable to the system users.

Computer outputs should be simple to read and interpret.

Which of the following is(are) the step(s) in the output design process?

oo we

Which of the following advanced input controls provides a nonnumeric means of selecting

specify physical output requirements

identify system outputs and review logical requirements
design, validate, and test outputs

all of the above

a value?

SO W

ellipsis control
Internet hyperlink
check list box
slider edit calendar
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